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1. Here is a probability line.
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(as a decimal)

Copy the labels carefully onto this incomplete probability line.
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probability: single (1) 0 0.1 0.2 l 0.3 0.7 l 0.8 1 (as a decimal)
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1. Here is a probability line.

1 (as a fraction)
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(as a decimal)

Copy the labels carefully onto this incomplete probability line.
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2. Here is an incomplete probability line.

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 (as a decimal)
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Complete the percentage labels.

3. Here is an incomplete probability line.
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(i) Complete the percentage labels.
(ii) Complete the decimal labels.

2
(ili) Draw arrows and labels for the fractions 1% 1 1- 1,

2. Here is an incomplete probability line.

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 (as a decimal)
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Complete the percentage labels.

3. Here is an incomplete probability line.
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(i) Complete the percentage labels.
(ii) Complete the decimal labels.

2
(ili) Draw arrows and labels for the fractions 1% 1 1- 1,
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